(287|7t:2014H10€25¢ ~ 2015EH01E24Y)

o RtAREE N

= S | A RHLt2 82| AL 2 G 5H,
SRS §E2 £-7(2HEHE

o
A <)
SQrol Arit2- 80l Chet ZntE 95t H&Sdh= 2 M YLt

EHAEXMMEZE(F

MEAl SSZET 0ot £ 66,105
(M3} 02-6308-0500, http://www.trustonasset.com)




1=
=3
=

x

ol 7
PSS L

=
=
9

AR}
F218A
7Fedd uiA 7t

A2 71
2ksl & o]

AA Aol

ql gy Ao u}

2

o)
o}
0.54%tN8] —5.03%P2] Az Hug

al
Figce!
} e}
< 5o
o

1

Alej 7}

4

3t
AFZ=
i)

19 249714
5

2] <lst o]

B 714 AA 9

ASSET MANAGEMENT

TRUSTON

o~
T

L
=1

=
=

]

A

1

A=
old me
of

]

x
s

HHo 2 Fab
20154

A2 eyt
A
=29 3=z
3

]
&A
of o

#1787,

}o
o
23

9]

AN

L

=
b

]

25 H-E
51
o3
=
3]

=

7

el

= 4gn
b E
e A

A

P
109
ol g
Fol by

o]
3
20143 9¢ F<+ 9]
3 3

oate o
SEREE!
20144

A

o
-




9
7ol

=
=
Gl

ojm 7t

’

1A
o =

MB]|Ag o R
2

pals)
=08=
kA 71
=
=
o

2 7187 e

Ut

HA
Az 7Y
&

EERE R
ot

AU
o] Az elA

=

HIQl o8 gl JdEHIME
=
=

0] =
Al
ol A
u olo wEl WA n] A~ 1eE]ar QLEY/SW A|ek Hlo]l @ AFd
| upguTh 2}

3

HFE ] A Aol 9
S|

Al 7] 0]
A 1
A 3} 9]

1

5(

AT feldere o
=

=3
=
i
T
=
TR
e
1~_/|
=

7ol 4=
ol #9384
NEolA AgE YRzol
=9 79539 FAo] tha
A Adzee AU,
TRUSTON

A
=

$eluetel
2 te}
o5 et

o
-+




Kk

1. MEOo| 749

1l

L

<+

o]

-r

|
olo

6. EXFRFAMD OjLY



NII2HH M8 HE : xpEAEI} SSEXH0] Bt HE|
HE 9% EXSEED 2gExtde HEAS
EAEURLO|ZS AR ERLENFA] AK021
A AKO022
Ae AK210
Cc1 153 AKO023
c2 AK024
Ce AK027
I AKO028
W AQ290
HES| BR FAY, FMY, BRY 2XY EHEEEY 2013.07.25
287|7t 2014.10.25 ~ 2015.01.24 =£7|7t d=o] FafT
tT o o ST MEHASF 7| 2t0] §lZ
AHat2 &3 Ab EYAEIMREF) HETY A E 2| AL ot ME[2H
kOl S| AP www.trustonasset.com QUHEALR AL 2| S| A Q|ZHH E MH|A

T ZHXIZ=0| EXpoLo] HlmX|(KOSPDO| = &2 =uidts BA+g BES FHULL
SRS

gmoj s  |HHZHH ChEl HEOLE V19 2N HFIH BRIIY AL QUF, MHYF S g2 FRVULONS V1Y S
SRS |ERAE SXQUHA HolM SXDIYS M0 BEN, HYH 24 L AE 2 232|148 Sof HEE S30f
EXtstof P MOl =0l g g F=BtLIC
F)EOY2|AL : REMIBH At 2 SH|O|X|E &1SHA| 7| HEEFL|CE
NEE 3
EAERENO|
BURFAMEHFA
EHAEREAO|
BUANFAMEHFA]
|
A Ae C1~C4 Ce I
WA
(THR| - E4 DRI, BHOEE} %)
HEY %2 U CHES 548
XHAF Z 0 (A) 310,142 258,403 -16.68
BX| ZoH (B 1,135 679 -40.14
EAEHWE90|ZH 'rx°ﬂ()
xbEx} Al A 2 XFAREOH (C=A-B) 309,007 257,723 -16.60
o His A0l=3 = & (D) 307,243 268,293 -12.68
71274247 (E=C/Dx1000) 1,005.74 960.61 -4.49
ZF(Class)d 7|&7tA it
A 7|=7t4 1,002.02 953.56 -4.84
Ae FESTE: 1,002.91 955.25 -475
Cl 71E7H 999.96 949.70 -5.03
€2 7| =7t 1,000.75 951.16 496
Ce 7|1E7tH 1,002.52 954.52 -4.79
I 7| =742 1,003.72 956.81 -4.67
w 7| =71 1,003.80 957.50 -461
) 7|E7tA0|2t BEXX7L A EXSEHS SOHY), E2(@)ste 2 £ 23S EE) =8 A0 ME&& 7HEo 2 HEQ| =Xt
ZUZ WHE $SA BFSE L J1HE L



(EHl : %)

T ZZ 374 & 2 671 2 97 X2 1274
EYAEYRO|ZH
;r-%xrﬂg*[—lﬁjq] -4.49 -3.94 2.88 13.27
H| D X| 2= (k| OF ) 0.54 -4.47 -3.12 -0.23
(H|X|£= CHH| AP (-5.03) (0.53) (5.99) (13.50)
S F(Class)d 2zt

A -4.84 -4.64 1.76 11.65
(H|X|£= CHH| A1p) (-5.38) (-0.18) (4.88) (11.89)
Ae -475 -4.48 2.03 12.04
(H|X|£= CHH| A1p) (-5.29) (-0.01) (5.15) (12.27)
c1 -5.03 -5.03 1.16 10.78
(H|X|£= CHH| A1p) (-5.57) (-0.56) 4.27) (11.01)
c2 -4.96 -4.88 - -
(H| X[ 4= CHH| A1) (-5.50) (-042) - -
Ce -479 -4.55 1.92 11.88
(H|X|£= CHH| A1) (-5.33) (-0.08) (5.03) (12.11)
I -4.67 -4.32 2.32 -
(H|X|£= CHH| AP (-5.21) (0.15) (5.43) -
w -461 -4.25 2.36 -
(H|X|£= CHH| AP (-5.15) (0.22) (5.47) -
H| D X| 2= (k| OF ) 0.54 -4.47 -3.12 -0.23

) H|mX|4=(IX|03) : KOSPI

100%

X 2| EXHM 2 NpA HapS LIEPH ¢ D|2jo| 2 HatS

e ZZ 14 2 24 ZZ 34 %2 54
EfAEgE00|Z2
e o] B ' ' '
H| X[ a=(MX|0t3) -0.23 - B B
(H| x| == CHH| 1t (13.50) - - -
ZSF(Class)d gt
A 11.65 - - -
(H| x| == CHH| 1t (11.89) - - -
Ae 12.04 - - -
(H| x| == CHH| 1t (12.27) - - -
c1 10.78 - - -
(H| x| == CHH| 1t (11.01) - - -
c2 - - - -
(H| x| == CHH| 1t - - - B
Ce 11.88 - - -
(H[mX[2= CHH| Aap (12.11) - - -
I - - - -
(H| X%~ CHH| ot - - - -
W - - - -
(H| X%~ CHH| ot - - - -
H| mX|a=(HX|0t3) -0.23 - B B
Z=) H| K| Z:(HIX|OFR) : KOSPI 100%
X 2| EXMAIELS Jp MatE LELH ¥ ojafo| 2 2MalE BESHE ZI2 OFEL|CE




& QN < =)
@ = |22 @ 7 S 3 © i
| w1 [T]|S8 mw._ MO < S K -
i o _ 5] n - I*3 oF
| % e A
< oF s R R R
F (@]
i u 3 :
a Q| L e T R ot
o (8K
N 5 R < Y
R &
—— — _ - o
fi | e |~ oK Ry o i
- 1F K © o O x
T & =M< L
N _ = e}
o oK 0 ~ o
od ._W 0o
L |ole o & ue ° N|._
I} i 2 & 2
|| = ] > o o 50 = o
N x| S B3 _%ﬂo_uﬁwno.&
i ﬁ i "REREN
= = S g i
E_ﬁ l_..AI P H__u IA.m . m X0 m_ K. O_n_
o m| < 52
B M X O
2 < o
% |o|e z o ) o — or T_ﬂ_
o uo S ~ = il 2 s
e | ~ R * B
_|o|e S Y 5 0 3
5 5 °© 8 [l o ny oF N.l
e o ©
_m._._”_ 20 a | 20 S |T ol <H ol~|o | ]S up
5 L ~ KH
u.m —|°e|° 20 o & 8 ST o
I 2 3 ] B @ Ko
KO 20 e B i Klo 2
E - _A_.o o0n |- <
< or KIS IS =298 <
— = —— . MA_' T[RX[G |0 |0 |0 K-
g <5} K =
u- | < i
ol ol - p
K P2l ) o 2
© ar -
olo o o = o
o
oln ol S} % R
5 - ? 2
=) N H B!
=r N =
o o o <3
Klo olo Klo o o & iy >
) 5 S s Klo a1 Ho
" . S PN _— o - ol
m i S _ T o ko | 31| K |er |
i i o do | L) K315 | H | o
0 jrall zn| D | [ <r
| & K E3 ol | °F
e &
0 T xn
o [ - © 3 SR E_l
202l @ B 8 8 3 0 ki
e <r NN °__ -r|l™~ © Ko B Ko m_.__
i0 P R 1 I P '8 o
! = I+ S| iy o x I o Kio JueEmEERIgD
or T T g 0 T 3l g MAETEERT
—— - <] T X R = I <r ok N {
2 W == >3 <4 W= = K _ <r X oln pl okl
clalal K O[ERE |- 5 FH K
= M om |l o - o =]~ |
kF m N




(EH2 - %)
T =9 H = THE =49 H=
1 ESN| SK&}o| LA 488 6 Z=A oot 3.19
2 ESPN| e 3.70 7 Z=Al 20l 297
3 ESN| NAVER 341 8 Z=A GKL 2.86
4 ESN| KcC 3.28 9 ZA C|ojjo|X|m| = 2| o} 2.51
5 Z=A SKElg 2 3.24 10 A CR LA 2 244

XECH At B SR L1882 S8FAge HASAIMOIES HE 27|SYEIM S ZMUEIME F a = ASHC
(B HZ=2 httpr//dis.kofia.orkr) B, @3 TASAIAMO|ENM =3lot 27|SYELM Sl ZHEIME 2 U220t FE7|=L0|

ol = AF UL

NZAE HGSE LY

> FA
(TH9]: F, SHTHY, %)
59 HERg go= H S EC R &%t S H| 1
SK&FO| Ll A 265,638 12,618 488 CHstol= KRW M| MR}
7|2 710,194 9,552 3.70 Cystol= KRW o
NAVER 11,312 8,824 341 Cystol=2 KRW MH| A
KCC 15,735 8,466 3.28 cystol= KRW 3tet
SKEIEZ 29,502 8,364 3.24 Cystol= KRW EAY
oot 18,606 8,233 3.19 e KRW [EPICTE=RN
B 157,584 7,674 297 cystol= KRW M=
GKL 184,541 7,382 2.86 Cfstol= KRW MHE[A Y
C|ojjo| || = 2| of 494,624 6,480 2.51 Cjsho=2 KRW ES
CHLHE 2 32,973 6,314 244 cystol= KRW ENEES
oHER| Y= 108,165 5,403 2.09 cystol= KRW IT H/W 1% 1H1.76)
O}E BtABX 118,982 4,914 1.90 cystol= KRW IT H/W 1% 14(1.30)
OFAjOF 30,563 4,554 1.76 Cjsho=2 KRW Me| A 1% 1H(1.39)
AJBIE| 7} 253,448 4,245 1.64 e KRW MHE[A Y 1% % 1H1.14)
B Q0HH| 153,811 3,953 1.53 CHstol= KRW ES 1% 1H2.65)
MDSE| 3 159,485 3,612 1.40 Cfstol=2 KRW | IT S/W & SVC | 1%*1}1.81)
ASH <k 137,810 3,418 1.32 CHstol= KRW ES 1% 1H1.04)
LGSl A| AL 35,660 3,063 1.19 Cfstol=2 KRW stst 1%X1H(3.45)
NS PN 729,533 2,969 1.15 Cysol=2 KRW MH| A9 1% 1H1.31)
20k 179,548 2,864 1.11 cystol= KRW ES 1% 1H(1.09)
AMEAS 88,832 2,803 1.08 Cjstol= KRW SEo 1% 1H1.91)
Cishor= 127,621 2,731 1.06 cystol= KRW ES 1% 1}H2.13)
O 9 AHR 251,452 2,369 0.92 Cjstol= KRW ES 1% 1H1.38)
29 157,679 2,137 0.83 CHstol= KRW ES 1% % 1}H2.57)
e E 241,073 1,596 0.62 Cjstol= KRW ES 1% 1H1.48)
F) EXC e 49 1055 U HIHFHO| RHAHEHO| 5%E Eutste 22 7| e YHFA 40| 1% 21t 5
4. EXI2EXEUH g
N EX2200% (HEDfL )
(Tt 2 7H, &)
o xg] =4 283Q Ct2 FHE #z dateot Qs HE U YAA Y 284 e
He | HEHNS 2812 HENF 2812
208 /%) 19804 790 5 7,598 2103000326
F) QEO| 72 2ME BA|E 0| MR EXMEZHO|H, ‘MY 2EMERY 0| 2EMEAH T EXHE 8 8 FX oAZEE S0 Ao
FLFO|D ANl dgtg +HWStE XHE UE
XHEO| REMEQH HEAUY 52 FEFAHE HASAAMO|IEL| FAIZA| 52 st 5= ASLICH (AHY F4 http://dis.kofia.or.kr)
CH W3] MXSAIAMOIEZL MSote FEQ & A28 20M7t MEshs RO 2d7|EY0| &0[g 4= UA&L/Ch




mr
ol
norxz%
._.A.._§_._._
%ﬁ%
ok
<«
o
o =
o | K
5 | ®
- |1
M8
N|n|o
~ (S
5[
= |&
o
o

OE_OOOOOO_/30—/OOOOOO—/O—/30789008073078800707 o |O |~
=[2lalaalefalal 2 [=Z|=2|==]ele]|n(a]le] 2 [=Z|=|=]|S|e|e|afa]le] o (=== ]|Sa]|afa]|e| 2 [=]|=
Ddlo|lo|o|o|o|lco|lc|] o |o|lo|lo|lo|lo|o|ollo|lo] o |o|lo|lo|lo|lo|lo|ollo|la|l o |o|lo|lo|lo|lo|lo|o|lo|lc|l o |o|o
~
=
(o] ()] T} ||t |0 — < %) 0563 o o 4499 (22l ~ o 79
ro 21 = |N|LF[SR g of o [HZ[S]- oy — A =1 N A = s S [w]3
03_0000001559000000—/01 LN N |V ||| |X]|D]|—H] WO |OLID|V|V ||| LN mn |
=l2lalealefa]|=] 2 [=la]|=|=]e|2]|na]=] 2 [=Z]|a|=|e|e|a|afa]|=] 2 [=Z]|e|=|n]|S|2a]|aa]|=| = [=]|S
Jdloc|lo|o|lo|g|lco|lc] o |o|lo|lo|lo|lo|o|ollo|lo] o |o|lo|lo|lo|oc|lo|ollo|la|l o |o|lo|lo|lo|o|lo|o|lo|lc|l o |o|o
N
]
=
o [nl IO KO Bl I O] ©o |l o [Rlola]— ™ ol|l-|o | o © olo
o © S 2 A28 b ol m [D]D|~]|—H]|° 3 — =[N Q bl I =
= m M m = nH
K <k <k <k mu U0 oy
o <k . <+ o <k oy BN A_un__uA_'
=< = =< = =< = ur =< NERE
Joi + [Ko = ol « Ko = 1oi « | Ko = < | % « |Klo| = =
. — x| < - — P R < - — x| < —|=|= X B0 <
== | E oo | = oo | |2 | T [E (oo |= oo | X2 | S oo | = 7 oo ||| S floo| = | o 3| =
H o M| %)= | = LN b oy m |6l = | = (=N B b m |6l = | = e | o [ o= | 222 | |
= o Do S = o I|o S = ok Do N H._lmvu.__n__l Dlo|< = N
- N el e g R pe Sl A e e e g BT i N el o g BT el ST ] = e g R R fl
H I ~ | Klo H = ~ | H = ~ | Klo R R ~|m Klo
ol ol ol Sl EX
an ol on =|aon "
] TN
= o<k
=] _H__A__o.AT

=) 201519 7|

Ae

C1




(BH9] - 2HTHRL, %)
o 7| =
e L) e L) bl
KA 2 A 10 0.18 16 0.18
ThOf S| A} 16 0.30 26 0.30
HET| AR 2D AHAEF R XD 0 0.00 0 0.00
UHIALE 22| 2 AL 0 0.00 0 0.00
EEST 27 0.49 42 0.49
2 EtH| 2+ 0 0.00 0 0.00
ChaOiO) S| 442 0.10 0.07
oy of.
ZEANENYR &
= f o 2 0.04 3 0.03
e MH| A =52
TTE
A 8 0.15 9 0.10
SHAEAM 0.09 14 0.17
FAHRE A 15 0.18 19 0.18
THOf S| A 11 0.13 13 0.13
HEX| AR 2 S| AHAM EF S R 0 0.00 0 0.00
AL 22| 2 A 0 0.00 0 0.00
28t 27 0.32 34 0.32
Ce EfH|8** 0 0.00 0 0.00
CHEOfO) .S 442 9 0.11 8 0.07
S TR
SN o 4 0.05 3 0.03
saz MH| A =8
SHA| 13 0.15 11 0.10
Az A 8 0.09 18 0.17
FoH2-E A 79 0.18 83 0.18
ZHOj 2| A 0.01 0.01
HEX| AR 2ES|AHA EF Y XL 0.00 0.00
LA 22| 3| A 0.00 0.00
23 85 0.20 89 0.20
I 7| EtH| 8** 0 0.00 1 0.00
ClaOjo). S48 46 0.11 33 0.07
o oy
ZANENYR &
= f o 20 0.05 14 0.03
N MH| A =2
TTE —
A 66 0.15 48 0.10
B 38 0.09 79 0.17
FAL2-B AL 43 0.18 26 0.18
ZHOy 2| A 0.00 0 0.00
HEX A2 2| AHA EFRIXY) 0.00 1 0.00
LHEALR 22| 3| A 1 0.00 1 0.00
28 44 0.19 27 0.19
w EfH| 8 ** 0 0.00 0 0.00
NN Y ey 25 0.11 10 0.07
ofof.
ZMNBEMYR S
= f e 11 0.05 4 0.03
N MH|A =8
TTE
A 36 0.15 15 0.10
ERE 21 0.09 21 0.15

*HEO| XS U ET il HIE

) th
** 7|EtH|EO[2t | A ZALH| 8, ST S2 oS S Z2HHIE S HEMM FSH-HEHo2 X HE22A Hiif- S/ ++2E X el AYULC,.

o=t




(EHl: B, %)

T

) sig mE SSEE g gy
TE [ 35 usuE | BAiiZ e |B5554 HBUBpY - EALE b
Eg|AEWE=00|5A 7| 0.0007 0.0001 0.0051 0.7272
RFERHAIEHZE AL =T 0.0005 0.0001 0.0038 0.5869
ZHF(Class)d ozt
A 7| 14523 0 14572 0.7051
o7 14524 0 14559 0.5602
Bl 11022 0 11072 07733
Ae o7 11023 0 1.1066 06253
o Bl 22522 0 22574 0.7562
o7 22524 0 22565 0.6065
Bl 1.9524 0 19543 05761
= o7 19525 0 1.9544 04702
Bl 12522 0 1.2569 0.7345
ce o7 1.2524 0 1.256 05818
: Bl 07823 0 0.7885 0.7568
o7 0.7824 0 0.7869 06283
N 7| 0.7524 0 0.7566 06519
o7 0.7524 0 0.7558 05749
1) 2= 8 8(Total Expense Ratio)0| & 2854 5 HEOIA SHotE B2 J[EHE BUS 2X QENA(Z+ 68 AT 7]
F)OE Lhe HEEM oilE 287|7H & FAXIZL 2ESH & E=-H|&5+F 2 LIEtH L Tt
F2) 0jof- B74 =2 H| 0|2t Oj0f- B+ EE =Xt HHTH(E-H| & AL 7|F)C 2 Lhz HEEM siY 287|7F § FXIXIF £E

o ool - S22l =F5 LIEFHLICE
F3) RAHO| e HHEO|A LG HIES AHETL AX[SHs HIZUE QhEdt0] ghitet =X L C.

6. EXFXIAH DHOfLY )

EHAEUZ 0| T HBEXAENFA] (EH2| : 2422, %)
o <= o= OO 2| M S =)
=& = =& = Sl 7|zt Lkl
4,807,428 119,351 6,702,843 154,864 56.49 22410
F) olg 28717 & =3t FATIUo| ZUHS O ST 87| F ERT FAO HREIIMOZE L H|E
=] = o =X
Bx2 327 ojojg|™ = =0|
EQAEME0|THBEXAEFA] (B9 %)
14140421259 ~14H072242 1414072259 ~14H1094242 14141020259 ~15H0124242
39.58 30.81 56.49
- |
7. ZX|ALSH
* DOl Ut HEE= BRI EREMN O] AMREE MO AP, EREE, B Y HE 59 §E= 10|
71t EYAE MR 0| ZHXEXLE A0l EXtStD QL= H|E0 W2t otEst Z0tE 20jF10 &L Tt

* 0| BOAE RZAIZ Y| o) E2AEURYO|ISAREAAEFA]Q| RSB AEl ERAERHLEEF)
O] EH5t0] HET B BBIAAIEIYRN S TN EISHO| SOl ot BIfSIAE Sof SXIXOIA HBE LTt
Cot 2 O|EHEl HEO| HEX| A BB AMEL IR Bol7|ZHS U OIStEl o 0|5 7|2t SBtLIC)

Zt= HM 29l EYAEXMRE(F) http://www.trustonasset.com  / 02-6308-0500
285X http://dis.fundservice.net

10



http://www.trustonasset.com/
http://dis.fundservice.net/

FEALZ| el 2448 RO
fLICH EXHLIE

XIS
=

(=]
HEL2RE Atgs 20 H

[e)
2l

oAl Exte|g0f et Lt

| AE0[D, 0|F 0|83tof
Ol $9ZS Mrte oojgLcy

/9

A7) LT

=

=

Rtst £RERE

1=
e

7t2 230] 7t
0 of HEOf

=
o

Ofl

S

ot
=

| H|Z LTk CHA|

El
HIEYUCLL Ol &

=

3

A

[

[

n40| X|=3t
O| AF UL 2

ol

K1

PO 2| AFOI A HEOf ZhUSEX| 2 O| - A EXAIZEE B

EOlIL
[l

AAtE 28 SEALE

E
e

SLIC

MHEM S8YEA/UR 27t

2

EXAIZEE X}
At

{0

miejAtsE XA 2

t

I
[

FLIC}.

Exel
=

o ofofl &

=

=)

HAb

[=]

&

AL 2

y

H

=
=)

HI

o3
[

i

8712 & HEMAM XEEE RIS

SAHOZ LhE HELICH

oK
10
=
10

2| =] At

t

il
=

| =]
-

UEHAf

O =[ A

t

I
=

oo+ HIE

11






